
¢y•yîû’ !˜öì”Å!Ÿ„þy

1Ð ö„þy!¦þvþéôé19 x!“þ›y!îûîû xyîöì£ !î”Äyœöìëû ßþºy¦þy!î„þ þ™àþ˜éôéþ™yàþ˜ îÄy£“þ £öìëûöìŠéÐ ö„þy!¦þvþ x!“þ›y!îûîû ›öì•Äç
!ŸÇþyíÅ#öì”îû þ™àþ˜éôéþ™yàþ˜ xîÄy£“þ îûy…yîû vþzöìjöìŸÄ£z ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñéôé~îû ¢)eþ™y“þÐ

2Ð ö„þy!¦þvþ x!“þ›y!îûîû ›öì•Ä !î”Äyœöìëû ßþºy¦þy!î„þ þ™àþ˜éôéþ™yàþ˜ îr• íy„þöìœç !ŸÇþyíÅ#öì”îû x!¦þ¦þyî„þöì”îû ›y•Äöì›
²Ì!“þ ›yöì¢ !›vþéôéövþ !›œ !î“þîû’ „þîûy £öìFŠééÐ !›vþéôéövþ !›öìœîû ¢öìA†£z x!¦þ¦þyî„þöì”îû £yöì“þ “%þöìœ ö”çëûy £öì‰Šé
›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œÐ þ™öìîûîû ›yöì¢ !›vþéôéövþ !›œ ¢‚@ùÌ£ „þîûyîû ¢›ëû x!¦þ¦þyî„þîûy !ŸÇþyíÅ#öì”îû „þîûy ›öìvþœ
xÄy!Q!¦þ!Ýþ Ýþyöìßþñîû vþz_îû†%!œ ›)œÄyëûöì̃ îû ‹˜Ä !ŸÇþ„þéôé!Ÿ!Çþ„þyöì”îû £yöì“þ “%þöìœ !”öì‰Šé˜Ð

3Ð ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œ ›)œÄyëûöì̃ îû ›y•Äöì› „þy›Ä !Ÿ…˜ ¢y›íÅÄ x‹Åöì̃ îû þ™öìí !ŸÇþyíÅ#îûy „þ# „þ# xhsþîûyöìëûîû
¢Á¿%…#˜ £öì‰Šé !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy “þy !‰þ!£«“þ „þîûöì“þ þ™yîûöìî˜ ç ëíyëí îÄîÞíy !˜öì“þ þ™yîûöìî˜Ð

4Ð ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œ öíöì„þ£z îyŠéy£z „þöìîû !î!¦þ§¬ ö×!’îû ‹˜Ä !˜!”ÅTþ›yöì̃ îû ²ÌÙÀþ™e ÷“þ!îû „þîûy £öìëûöìŠéÐ

5Ð !ŸÇþyíÅ#îûy ²ÌÙÀ†%!œîû vþz_îû !œ…öìîÐ

6Ð !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy !î”Äyœöìëû îöì¢£z vþz_îûþ™e†%!œîû ›)œÄyëû̃  „þîûöìî˜Ð

7Ð vþz_îûþ™e†%!œ ›)œÄyëûöì̃ îû ›y•Äöì› !ŸÇþyíÅ#îûy „þy›Ä !Ÿ…˜ ¢y›íÅÄ x‹Åöì̃  „þ“þÝþy ¢šþœ £öìœy “þy !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy
î%Gþöì“þ þ™yîûöìî˜Ð



îy‚œy
¡ìÛþ ö×!’

þ™)’Å›y é̃ôé50

1. !àþ„þ vþz_îû!Ýþ öîöìŠé !˜öìëû öœöì…y õ 1 × 5 = 5

1.1 ò¦þîû”%þ™%öìîûó „þ!î“þyëû òŸ%„þöì̃ y …öìvþüîû x¤y!Ýþó îûöìëûöìŠé

S„þV xÙ»a †yöìŠéîû ˜#öì‰þ S…V ›yöìàþ S†V ö†yœy‡öìîû S‡V ö˜ïöì„þyîû ö…yöìœ

1.2 ò“þyöì„þ xy¢öì“þ îœöìî „þyœÐóéôôôé xy¢öì“þ îœy £öìëûöìŠé

S„þV Ÿ‚„þîû ö¢˜yþ™!“þöì„þ S…V x!¦þ› %̃Ä ö¢˜yþ™!“þöì„þ

S†V !î¦þ#¡ì’ ”yŸöì„þ S‡V þ™Mþy˜˜ xöìþ™îûyîû ›y!œ„þöì„þ

1.3 òxy„þyöìŸ ˜ëû̃  “%þöìœó ”¤y!vþüöìëû îûöìëûöìŠé

S„þV î%öì̃ y þ™y£yvþü S…V ›îû%¦)þ!› S†V ²Ì¦þy“þ ¢)ëÅ S‡V þ™y£z̃  †yŠé

1.4 òöëöì“þ þ™y!îû !„þhs$þ ö„þ˜ ëyîó „þyîÄ@ùÌrí!Ýþîû îû‰þ!ëû“þy

S„þV ˜#öìîûw˜yí ‰þ„Êþî“Åþ# S…V xîû%’ !›e S†V Ÿ!=þ ‰þöìRyþ™y•Äyëû S‡V x!›ëû ‰þ„Êþî“Åþ#

1.5 þ™)îÅîöìA†îû ›y£%öì“þîû ¦þy¡ìyëû ò›y£zœó Ÿöì·îû xíÅ

S„þV !þ™Šéöì̃  ëyç S…V ¢yî•y˜ S†V î¢ S‡V „þy“þ £ç

2. …%î ¢‚öìÇþöìþ™ ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 1 × 10 = 10

2.1 òç ö“þy þ™!í„þ‹öì̃ îû Šéy“þyó éôôôé þ™!í„þ‹öì̃ îû Šéy“þy ö„þy ä̃!ÝþÚ

2.2 ò~…yöì̃  îy“þyöì¢îû !¦þ“þîû ¢î¢›ëû !¦þöì‹ ‹öìœîû Gþyþ™Ýþy íyöì„þÐó

éôôôé ö„þ˜ ~›˜!Ýþ £ëûÚ

2.3 ò›˜éôé¦þyöìœyéôé„þîûyó „þ!î“þyëû „þ!î öîûyj%îûöì„þ „þ#öì¢îû ¢öìA† “%þœ˜y „þöìîûöìŠé˜Ú

2.4 òxy!› „þíy !”öìëû ~öì¢!Šéó éôôôé „þí„þ ö„þy ä̃ „þíy !”öìëû ~öì¢öìŠé˜Ú

2.5 ò¦þy”%!œó îÊ“þ „þ…˜ vþz”äëy!þ™“þ £ëûÚ

2.6 ¢r•Äyëû £yöìÝþîû !‰þe!Ýþ ö„þ›˜Ú

2.7 ö„þy ä̃ !“þ!íöì“þ îûy‘þüîöìA†îû „,þ!¡ì‹#î# ¢›yöì‹îû ²Ìy‰þ#˜ vþzê¢î ö†yéôéî¨˜y– xœ¸# !î”yëû– „¤þyvþüy…¤%Ýþy– ö†yîû%…¤%Ýþy ²Ì¦,þ!“þ
þ™y!œ“þ £ëûÚ

2.8 òö„þ›˜ öë˜ ö‰þ˜y œyöì† îÄhßþ ›•%îû ‰þœyóéôôôé „þ!î „þyîû ‰þœyîû „þíy îöìœöìŠé˜Ú

2.9 òö¢ îy!vþüîû !˜Ÿy˜y £öìëûöìŠé xy›†yŠé!Ýþóéôôôé òš¤þy!„þó †öìÒ ö†yþ™yœîyî% „þ#¦þyöìî “¤þyîû îy!vþüîû !àþ„þy˜y ‹y˜yöì“þ˜Ú

2.10 ò“%þ!› öë „þyöì‹îû öœy„þ ¦þy£zæ ç£zöìÝþ£z xy¢œóÐ ö„þ– „þyöì„þ– „þ…˜ ~„þíy îöìœ!ŠéœÚ

3. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû !˜öì‹îû ¦þy¡ìyëû öœöì…y õ 2 × 10 = 20

3.1 ò”¤yvþüyöìëû îûöìëûöìŠé þ™y›†yŠé ›îû%“þöìÝþÐó

éôôôé ö„þ ~›˜ ßþº²À ö”öì…Ú ö„þ˜ ö¢ ~›˜ ßþº²À ö”öì…Ú

3.2 ò... “þy£z “þyîûy ßþº¦þyî“þ£z ˜#îûîÐó

éôôôé „þyöì”îû „þíy îœy £öìëûöìŠéÚ “þyîûy ˜#îûî ö„þ˜Ú



3.3 ò~îûy îy¢y ÷“þ!îû „þîûîyîû ‹˜Ä vþzþ™ë%=þ Þíy˜ …¤%‹öì“þ öîîû £ëûÐó

éôôôé vþzþ™ë%=þ Þíy˜ …¤%öì‹ ö˜çëûyîû ö„þïŸœ!Ýþ ò„%þöì›yöìîûéôéöþ™y„þyîû îy¢yîy!vþüó îû‰þ˜y‚Ÿ x %̃¢îûöì’ öœöì…yÐ

3.4 ò•y˜„þyÝþyîû þ™îû ~öì„þîyöìîû xyœy”y ”,ŸÄÐó éôôôé ò›îûŸ%öì›îû !”öì̃ ó †”Äy‚Ÿ x %̃¢îûöì’ ö¢£z ”,ŸÄ î’Å̃ y „þöìîûyÐ

3.5 !”˜ ç îûyöì“þîû þ™Ýþ¦)þ!›öì“þ £yöìÝþîû !‰þe ò£yÝþó „þ!î“þyëû „þ#¦þyöìî !îî,“þ £öìëûöìŠé “þy xyöìœy‰þ˜y „þöìîûyÐ

3.6 ò›y!Ýþîû ‡öìîû ö”ëûyœ!‰þeó îû‰þ˜yëû ¢¤yç“þy!œ ö”ëûyœ!‰þöìeîû !î!ŸTþ“þy „þ#¦þyöìî š%þöìÝþ vþzöìàþöìŠéÚ

3.7 ò!þ™¥þ™öìvþüó „þ!î“þyëû þ™“þA†!Ýþîû ²Ì!“þ „þ!îîû †¦þ#îû ¦þyöìœyîy¢yîû ²Ì„þyŸ ‡öìÝþöìŠéÐéóéôôôé xyöìœy‰þ˜y „þöìîûyÐ

3.8 òš¤þy!„þó †öìÒîû x˜Ä“þ› ²Ì•y˜ ‰þ!îûe ~„þ!Ýþ !˜îû#£– !˜îûþ™îûy• xy›†yŠéÐóéôôôé vþzå•,!“þ!Ýþ „þ“þ”)îû ¢›íÅ̃ öìëy†ÄÚ

3.9 òþ™,!íî# ¢îyîû£z ö£y„þÐóéôôôé ~£z xyŸ#îÅy’# òxyŸ#îÅy”ó †öìÒ „þ#¦þyöìî •¹!˜“þ £öìëûöìŠéÚ

3.10 ò... ~›˜ x¦)þ“þþ™)îÅ xîÞíyëû xy›yëû þ™vþüöì“þ £öìî ¦þy!î!˜óÐ

  éôôôé †Ò„þí„þ ö„þy ä̃ xîÞíyëû þ™öìvþü!Šéöìœ˜Ú

4. !˜öì”ÅŸ x %̃¢yöìîû vþz_îû ”yç õ 1 × 5 = 5

4.1 !î¢†Å¢!r•öì“þ !î¢†Å îû)þ™yhsþ!îû“þ £öìëû òîûäó £öìFŠé éôôôé ~›˜ ”%!Ýþ vþz”y£îû’ ”yçÐ

4.2 !î¢†Å¢!r•öì“þ !î¢†Å œ%® £öìëû xyöì†îû ßþºîû•¹!˜öì„þ ”#‡Å „þîûöìŠé éôôôé ~›˜ ”%ó!Ýþ vþz”y£îû’ ”yçÐ

4.3 vþz”y£îû’ ”yç éôôôé ö‹yvþüî¤y•y ¢y!•“þ Ÿ·– Ÿ·…[þ îy Ÿ·y‚Ÿ ‹%öìvþü ¢y!•“þ Ÿ·Ð

4.4 ¢‚…Äyîy‰þ„þ ç þ™)îû’îy‰þ„þ Ÿöì·îû þ™yíÅ„þÄ ö„þyíyëûÚ

4.5 ¢!r• !îöì‰Šé” „þöìîûy éôé !˜îûA„%þŸ

5. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 1 × 5 = 5

5.1 Ÿ·‹y“þ– x %̃¢†Å†%!œöì„þ îy‚œyëû „þëû!Ýþ ö×!’öì“þ ¦þy† „þîûy ëyëû ~î‚ „þ# „þ#Ú

5.2 vþzþ™¢öì†Åîû xyöìîû„þ ˜y› òxy”Ä²Ì“þÄëûó ö„þ˜Ú

5.3 ò•y“%þ!î¦þ!=þó îœöì“þ „þ# öîyGþÚ

5.4 Ÿ·ë%†öìœîû xíÅþ™yíÅ„þÄ ö”…yç õ xyŸy/xy¢y– ¢†Å/ßþº†Å

5.5 þ™”yhsþîû „þöìîûy õ ‹†ê– ‹!Ýþœ

6. x˜!•„þ 100 Ÿöì· x %̃öì‰Šé” îû‰þ˜y „þöìîûy õ 5

îy‚œyîû vþzê¢î



ENGLISH
Class VI

Full Marks - 50

SECTION A : READING COMPREHENSION

1. Read the passage carefully and answer the questions that follow :

He caught hold of a little net and dipped it into the water. He brought the little doll out.
But she slipped out and fell on to the table banging her head.

She began to cry. Up came a policeman doll and said fiercely, "What are you doing,
catching the doll and making her bump her head like that?"

"I was saving her from drowning!" said Tuffy.

A. Tick the correct answer in the given boxes : 1 × 3 = 3

(i) Tuffy saved the doll with a (a) stick        (b) net        (c) rope

(ii) The girl fell on the (a) floor   (b) chair    (c) table 

(iii) The policeman doll came when the girl (a) cried   (b) fell   (c) screamed 

B. Fill in the chart with information from the given passage : 2 × 3 = 6

Cause Effect

(i) Tuffy dipped the net into the water.

(ii) The little doll fell on to the table.

(iii) The policeman doll talked fiercely.

2. Read the following passage and answer the questions given below :

Once upon a time there lived a boy, named Tatai. His father, Mr. Chowdhury, worked
at the nearby coal-mine. Everyday Tatai used to watch the roadside jewellery shop hardly
three yards away from his scratched window pane. It displayed a sparkling diamond
necklace in a glass box. One day, a rich old lady stepped out of a cab, bought the
beautiful necklace and left the glass box blank. The shopkeeper put some cheap crystal
jewellery to fill in the emptiness of the box.

A. Fill in the table with information from the passage : 1 × 3 = 3

Who Did what

(i) Tatai

(ii) The rich old lady

(iii) The shopkeeper



B. Answer the following questions : 2 × 2 = 4
(i) What was the occupation of Tatai's father?
Ans : __________________________________________________________
(ii) How far was the jewellery shop from his house?
Ans : ___________________________________________________________

SECTION B :  GRAMMAR AND VOCABULARY
3. Fill in the blanks with verbs in agreement with the subject : 1 × 3 = 3

(a) Pepperoni and cheese __________ great on a pizza.
(b) Neither she nor I __________ going to school.
(c) The Director and Producer of the film __________ giving an interview.

4. Identify the Imperative, Exclamatory, Optative and Interrogative sentences :
1 × 5 =5

(a) Hurray! We have won the match.
(b) What is your name?
(c) Neeraj Chopra won the gold medal in the Tokyo Olympics.
(d) Open the door.
(e) May God bless you.

5. Classify the underlined words of the given sentences in the correct columns :
1 × 6 = 6

(i) Sugar is sweet.
(ii) This is my book.
(iii) You should carry an umbrella while going out.
(iv) My mother has long hair.
(v) Give me a glass of water.

Countable noun Uncountable noun

(i) (a)

(ii) (b)

(iii) (c)

6. Add Prefixes to the words given below and make opposites : 1 × 5 = 5
respect, comfortable, fortune, mature, literate

7. Make sentences with the following words : 1 × 3 = 3
despair, sturdy, drowning



SECTION C : WRITING

8. Suppose you had been to Murshidabad with your parents. Write a paragraph
(in about 60 words) about your experience in the historical place. You may use
the following hints : 6

Hints : how you went there — mode of transport — historical sites you visited —
description of what you saw — your feelings

9. Develop a story (in about 60 words) using the following outlines. Add a suitable
to your story :  6

Outline : dog with piece of meat in mouth — crosses a river bridge — sees his shadow
— thinks another dog, barks — meat falls into the river
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˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû öœöì…y õ

1. î£%›%…# vþz_îû•›Å# ²ÌÙÀ SMCQsV 1 × 8 = 8

i. xyÝþ xöìA„þîû Ç%þo“þ› ¢‚…Äy öíöì„þ ¢y“þ xöìA„þîû î,£_› ¢‚…Äyîû !îöìëûy†šþœ £öìœy
SaV (00000001 – 9999999) SbV (11111111 – 9999999)

ScV (100000000 – 9999999) SdV (10000000 – 9999999)

ii. 500 ¢‚…Äy!Ýþöì„þ öîûy›y˜ ¢‚…Äyëû !œ…öìœ þ™yöìîy

SaV C SbV D

ScV L SdV M

iii. (3 × 1–5 )éôéö„þ öœ…y ëyëû

SaV 5 × 1–3 SbV 1–
5 

× 1–3

ScV  1–3 + 1–3 + 1–3 + 1–3 + 1–3 SdV 1–5 + 1–5 + 1–5

iv. (0.3 × 0.5)ôé~£z †%’šþöìœ ”Ÿ!›„þ !î %̈ î¢öìî vþy˜!”„þ öíöì„þ

SaV 1 ‡îû xyöì† SbV 2 ‡îû xyöì† ScV 3 ‡îû xyöì† SdV 4 ‡îû xyöì†

v. 1.8 !›Ýþyîû =

SaV 1800 ö¢!rÝþ!›Ýþyîû SbV 180 ö¢!rÝþ!›Ýþyîû ScV 18 ö¢!rÝþ!›Ýþyîû SdV 18000 ö¢!rÝþ!›Ýþyîû

vi. 10% ›yöì̃

SaV Ÿ“þ„þîûy 100 SbV
10
100

ScV ²Ì!“þ 100ôé~îû  ‹˜Ä 10 SdV Ÿ“þ„þîûy 10%

vii. ˜#öì‰þîû ö„þy˜!Ýþ xyëû“þ‡˜ ˜ëû

SaV £zÝþ SbV ŠéEþy ScV î£z SdV öîy“þœ

viii. 4
1

 x‚Ÿ !vþ› ˜Tþ £öìœ– !vþ› ˜Tþ £öìëûöìŠé Ÿ“þ„þîûy

SaV 25% SbV 25

ScV 100 SdV 400



2. ¢“þÄ/!›íÄy ST/FV öœöì…y õ 1 × 8 = 8

(i) 500 @ùÌy› = 0.05 !„þ.@ùÌy.

SiiV 1–3 ÷ 15 = 5

SiiiV 50 Ýþy„þyîû  1–5  x‚Ÿ öíöì„þ 10 Ýþy„þy !˜öìëû !˜öìœ ö„þyöì̃ y Ýþy„þy£z þ™öìvþü íy„þöìî ˜yÐ

SivV 5501éôé~îû ¢îöìíöì„þ „þyöìŠé 1000éôé~îû †%!’“þöì„þ þ™)’Å¢‚…Äy £öìœy 6000Ð

SvV –2.1 ~„þ!Ýþ }’yd„þ þ™)’Å¢‚…ÄyÐ

SviVþ  ™!îûîyöìîûîû ¢”¢Ä ¢‚…Äy þ™!îûîyöìîûîû ¢‚…Äy
3 | |
4 | | | | |

4 ‹˜ ¢”¢Äë%=þ þ™!îûîyöìîûîû þ™!îû¢‚…Äy 5
SviiV AB, CD ~î‚ EF ¢îûœöìîû…y‚Ÿ !“þ˜!Ýþ ¢›!î %̈ ¢îûœöìîû…y‚ŸÐ

SviiiV   xyëû“þy„þyîû !‰þe!Ýþîû þ™!îû¢#›y 12 ö¢!›.Ð

3. (i) hßþ½þ ö›œyç Söë ö„þyöì̃ y 3!ÝþV 3 × 2 = 6

²Ìí› hßþ½þ !m“þ#ëû hßþ½þ

y – 7 < 20 y–7, 20éôé~îû ¢›y˜ ~î‚ 20éôé~îû öíöì„þ öŠéyÝþ

y – 7 ≥ 20 y – 7– 20éôé~îû x¢›y˜

y – 7 ≠ 20 y – 7– 20éôé~îû öíöì„þ îöìvþüy

y – 7 ≤ 20 y – 7– 20éôé~îû öíöì„þ öŠéyÝþ

y – 7 > 20 y – 7– 20éôé~îû ¢›y˜ ~î‚ 20éôé~îû öíöì„þ îöìvþüy

(ii) hßþ½þ ö›œyç Söë ö„þyöì̃ y 3!ÝþV

„þ …

(i) ~„þ!Ýþ !˜öìîûÝþ ö‰þyöì̂ îû î„Êþ“þœ ~î‚ ¢›“þöìœîû ¢‚…Äy ëíy„Êþöì› (a) 1, 1

(ii) ~„þ!Ýþ !˜öìîûÝþ ŸA„%þîû î„Êþ“þœ ~î‚ ¢›“þöìœîû ¢‚…Äy ëíy„Êþöì› (b) 1, 2

(iii) î†Åy„þyîû ¦)þ!›ë%=þ !²Ì‹öì›îû •yîû¢‚…Äy ~î‚ “þœ¢‚…Äy ëíy„Êþöì› (c) 8, 5

(iv) î†Åy„þyîû ¦)þ!›ë%=þ !þ™îû!›öìvþîû •yîû¢‚…Äy ~î‚ “þœ¢‚…Äy ëíy„Êþöì› (d) 12, 6

A D

BC
E F

8 ö¢!›.

4 ö¢!›.



4. ¢‚!Çþ® vþz_îû•›Å# ²ÌÙÀ õ          2 × 5 = 10

(i) “%þ!› ö“þy›yîû ”y”yîû öíöì„þ 5 îŠéöìîûîû öŠéyÝþÐ ‰þœ îÄî£yîû „þöìîû ö“þy›yîû ”y”yîû îëû¢öì„þ ö“þy›yîû îëûöì¢îû ¢y£yöìëÄ
²Ì„þyŸ „þöìîûyÐ

(ii) 5005005 ¢‚…Äy!Ýþöì„þ Þíy˜#ëû ›yöì̃  !îhßþyîû „þöìîû öœöì…yÐ

(iii)

!‰þe (a) !‰þe (b) !‰þe (c)

˜#öì‰þîû Ÿ·†%!œ vþzþ™öìîûîû ö„þy˜ !‰þe†%!œîû ¢öìA† ë%=þ ö›œyç Söëéôéö„þyöì̃ y 2!ÝþV õ

„þ …

A. ¢›öìîû… !‰þe (c)
B. x¢›öìîû… !‰þe (b)
C. ¢›!î¨% !‰þe (a)

(iv) A £yöì“þîû „þyöì‹ 50éôé~îû ›öì•Ä 20 ˜Áºîû öþ™öìëûöìŠé !„þhs$þ B, 25éôé~îû ›öì•Ä 10 ˜Áºîû öþ™öìëûöìŠéÐ ö„þ öî!Ÿ öþ™öìëûöìŠé
Ÿ“þ„þîûyîû ¢y£yöìëÄ !˜’Åëû „þöìîûyÐ

(v) ~„þ!Ýþ ¢›îy£% !e¦%þöì‹îû þ™!îû¢#›y 14.4 ö¢!›.– !e¦%þ‹!Ýþîû 1!Ýþ îy£%îû ÷”‡ÅÄ ”Ÿ!›„þ ¢‚…Äyëû öœöì…yÐ

5. (i) 145 ç 232 ¢‚…Äy ”%!Ýþîû †.¢y.†% !˜’Åëû „þöìîûy ç ç£z †.¢y.†%éôé~îû ¢y£yöìëÄ œ.¢y.†% !˜’Åëû „þöìîûyÐ 4 × 3 = 12

(ii) ¢‚…Äyöìîû…yîû ¢y£yöìëÄ öëy†šþœ !˜’Åëû „þöìîûy õ S+ 7 V– S– 7V

(iii) ¢%‹y“þyîû “þíÄ öíöì„þ hßþ½þ!‰þe xA„þ˜ „þöìîûy õ

†y˜ †y£zöì“þ ¦þyöìœyîyöì¢ ˜y‰þ „þîûöì“þ ¦þyöìœyîyöì¢ x¤y„þöì“þ ¦þyöìœyîyöì¢

¢%‹y“þyîû
4 5 7îr•%îû

¢‚…Äy

6. ~îŠéöìîûîû xA„þ þ™îû#Çþyëû xy›yöì”îû „Ïþyöì¢îû 60% ŠéyeŠéye# 80éééôé~îû öî!Ÿ ˜Áºîû öþ™öìëûöìŠéÐ xy›yöì”îû „Ïþyöì¢ ö›yÝþ ŠéyeŠéye#
50 ‹˜ £öìœ „þ“þ‹˜ ŠéyeŠéye# 80éôé~îû öî!Ÿ ˜Áºîû öþ™öìëûöìŠéÚ 6

.A
B. .C  . . .

QP R

A

 








B

Q P

R C
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1. !àþ„þ  vþz_îû !˜îÅy‰þ˜ „þöìîûy õ 1 × 9 = 9

1.1 !¢öìA„þy˜y †yöìŠéîû Šéyœ öíöì„þ þ™yçëûy ëyëû éôôôé
S„þV îû‹˜ S…V „%þ£z̃ y£z̃
S†V îûîyîû S‡V xyàþyÐ

1.2 „,þ!¡ìöìÇþöìe ¢yîû !£öì¢öìî ëy îÄî£,“þ £ëû “þy £öìœy éôôôé
S„þV %̃̃ S…V ›Äyœyíyëû˜
S†V „þyîÅy!îûœ S‡V £zvþz!îûëûyÐ

1.3 „þyîÅ̃  öÝþÝþÆyöì„Ïþyîûy£zöìvþîû ¢‚öì„þ“þ £öìœy éôôôé
S„þV CCl S…V CCl2

S†V CCl4 S‡V CCl3Ð
1.4 ö£›yÝþy£zÝþ öë •y“%þîû xy„þ!îû„þ “þy £öìœy éôôôé

S„þV ö¢y˜y S…V “þy›y
S†V öœy£y S‡V xÄyœ%!›!˜ëûy›Ð

1.5 þxyëû“þ˜ þ™!îû›yöìþ™îû ~„þ„þ £öìœy éôôôé
S„þV @ùÌy› S…V ö¢!rÝþ!›Ýþyîû
S†V î†Å ö¢!rÝþ!›Ýþyîû S‡V ‡˜ ö¢!rÝþ!›ÝþyîûÐ

1.6 x!îŸ%å• îû=þ £öìœy éôôôé
S„þV öë îûöì=þ ö„þîœ CO2 íyöì„þ S…V öë îûöì=þ O2éôé~îû “%þœ˜yëû CO2 öî!Ÿ íyöì„þ
S†V öë îûöì=þ ö„þîœ O2 íyöì„þ S‡V öë îûöì=þ CO2éôé~îû “%þœ˜yëû O2 öî!Ÿ íyöì„þÐ

1.7 öë!Ýþ xyöì@Àëû!Ÿœy “þy £öìœy éôôôé
S„þV ‰%þ˜yþ™yíîû S…V öîöìœþ™yíîû
S†V ›yöìîÅœ þ™yíîû S‡V @ùÌy˜y£zÝþÐ

1.8 ÷”‡ÅÄ þ™!îû›yöìþ™îû Ç%þo“þ› ~„þ„þ!Ýþ £öìœy éôôôé
S„þV övþ„þy!›Ýþyîû  S…V övþ!¢!›Ýþyîû
S†V !›Ýþyîû S‡V !›!œ!›ÝþyîûÐ

1.9 ›y %̃öì¡ìîû î%öìvþüy xy %̂öìœ öë •îûöì̃ îû x!Þí¢!r• ö”…y ëyëû ö¢!Ýþ £öìœy éôôôé
S„þV !þ™¦þÝþ ¢!r• S…V !£O ¢!r•
S†V ¢Äyvþœ ¢!r• S‡V îœ ~î‚ ¢öì„þÝþ ¢!r•Ð

2. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1 × 3 = 3

2.1 ¢y†îû„%þ¢%› xyîû —————— ›yöìŠéîû ›öì•Ä !›öìíy‹#î# ¢Á™„Åþ ö”…y ëyëûÐ
2.2 ö„þyöì̃ y „þ!àþ˜ þ™”yöìíÅîû îöìvþüy Ý%þ„þöìîûyöì„þ ö¦þöì̂  öŠéyöìÝþy „þîûy £öìœ öŠéyöìÝþy Ý%þ„þöìîûy†%öìœyîû vþzþ™!îû“þöìœîû ö›yÝþ öÇþešþœ

îöìvþüyÝþyîû vþzþ™!îû“þöìœîû öÇþešþöìœîû “%þœ˜yëû —————— ëyëûÐ
2.3 îûy§¬yîû îy¢öì̃ îû £y“þöìœ ²Õy!ÞÝþöì„þîû xyhßþîû’ ö”çëûyîû „þyîû’ £öìœy •y“%þîû ö‰þöìëû ²Õy!ÞÝþöì„þîû “þyþ™ þ™!îûî£öì’îû Çþ›“þy

——————Ð



3. !àþ„þ îyöì„þÄîû þ™yöìŸ òó xyîû ¦%þœ îyöì„þÄîû þ™yöìŸ ò×ó !‰þ£« ”yç õ 1 × 3 = 3

3.1 ö„þyöì̃ y !ßþ±‚öì„þ ‰þyþ™ !”öìëû ¢‚„%þ!‰þ“þ „þîûy £öìœ “þyîû ›öì•Ä †!“þŸ!=þ ¢!Mþ“þ £ëûÐ

3.2 ö„þyöì̃ y “þîûöìœîû ²Ìîy!£“þ £çëûyîû öî† îyvþüöìœ ö¢£z “þîûöìœîû ›öì•Äîû ‰þyþ™ öîöìvþü ëyëûÐ

3.3 !œ†yöì›rÝþ öþ™!Ÿîû ¢öìA† £yvþüöì„þ ë%=þ „þöìîûÐ

4. ¢‚!Çþ® vþz_îû ”yç õ 1 × 3 = 3

4.1 SI þ™å•!“þöì“þ îöìœîû ~„þ„þ „þ#Ú

4.2 ‹öìœîû †¦þ#öìîû ö†öìœ “þîûöìœîû ‰þyþ™ „þ#¦þyöìî þ™!îûî!“Åþ“þ £ëûÚ

4.3 ›y˜îöì”öì£îû ö„þyíyëû x‰þœ x!Þí¢!r• ö”…y ëyëûÚ

5. ~„þ!Ýþ îy ”%!Ýþ îyöì„þÄ vþz_îû ”yç õ 2 × 7 = 14

5.1 ò!î!¦þ§¬ ²Ìy’#öì”îû öíöì„þ ‹y›y„þyþ™vþü ÷“þ!îûîû vþzþ™y”y˜ þ™yçëûy ëyëûó éôôôé vþz”y£îûöì’îû ¢y£yöìëÄ îÄy…Äy „þöìîûyÐ

5.2 ‹œ ç îy!œîû !›×’ öíöì„þ „þ# „þ# vþzþ™yöìëû îy!œöì„þ þ™,í„þ „þîûy ëyëûÚ

5.3 0.09 î†Å!›Ýþyîû öÇþešþöìœ 90 !˜vþzÝþ˜ îœ ²Ìë%=þ £öìœ öë þ™!îû›y’ ‰þyþ™ ¢,!Tþ £öìî “þy !˜’Åëû „þöìîûyÐ

5.4 îûöì=þîû „þy‹ „þ# „þ#Ú

5.5 òòö¦¤þy“þy Š%é!îûöì“þ ¢î!‹ „þyÝþy Ÿ=þóó éôôôé ‰þyöìþ™îû •yîû’y ²Ìöìëûy† „þöìîû „þyîû’ îÄy…Äy „þöìîûyÐ

5.6 ›y˜îöì”öì£ „þ#¦þyöìî š%þ¢š%þ¢ öíöì„þ !îŸ%å• îû=þ îy› !˜œöìëû öþ™¤ïöìŠéyëûÚ

5.7 ‹öìœ ö†yœyîû þ™öìîû !‰þ!˜öì„þ xyîû ö‰þyöì… ö”…y ëyöìFŠé ˜yÐ „þ# þ™îû#Çþy „þîûöìœ “%þ!› îœöì“þ þ™yîûöìî öë !‰þ!˜ £y!îûöìëû
ëyëû!˜– ú oîöì’£z xyöìŠéÚ

6. !“þ˜éôé‰þyîû!Ýþ îyöì„þÄ vþz_îû ”yç õ 3 × 6 = 18

6.1 òöÞÝþÆöì²Wzy›y£zöì¢¢ £öìœy vþzþ™„þyîû# îÄy„þöìÝþ!îûëûyó éôôôé î=þîÄ!Ýþîû ëíyíÅ“þy îÄy…Äy „þöìîûyÐ

6.2 ‹öìœ oî#¦)þ“þ £çëûyîû þ™öìîû %̃̃ öì„þ ö¢£z oî’ öíöì„þ !šþöìîû öþ™öì“þ £öìîÐ ~£z „þyöì‹ ö„þy˜ þ™å•!“þ!Ýþ éôôôé þ™!îûßþËyî’– ˜y
þ™y“þ˜ éôôôé x %̃þ™ë%=þ ~î‚ ö„þ˜Ú

6.3 îœ îœöì“þ „þ# öîyGþyëû îÄy…Äy „þöìîûyÐ

6.4 ›y˜îöì”öì£ ²ÌÙ»y¢ xyîû !˜Ù»y¢ ²Ì!„Êþëûy „þ#¦þyöìî ‡öìÝþÚ

6.5 òò¢›hßþ ‹#îyÙÂ ‹µyœy!˜îû ›)öìœ£z xyöìŠé ¢)öìëÅîû Ÿ!=þóó éôôôé îÄy…Äy „þöìîûyÐ

6.6 ö“þy›yîû îr•%îû ç‹˜ 60 ö„þ!‹ xyîû vþzF‰þ“þy 4.5 š%þÝþÐ ö“þy›yîû ú îr•%îû ö”£¦þîû ¢)‰þ„þ !˜’Åëû „þöìîûyÐ ö“þy›yîû îr•%îû
ö”£¦þîû ¢)‰þ„þ ¢Áºöìr• ö“þy›yîû ›“þy›“þ öœöì…yÐ
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1. ¢!àþ„þ Ÿ· öîöìŠé !˜öìëû Ÿ)̃ Äßþiy˜ þ™)îû’ „þöìîûy õ 1 × 3 = 3

1.1 ~…˜ç þ™ëÅhsþ  ¢îöì‰þöìëû þ™%öìîûyöì̃ y xy!”› ›y %̃öì¡ìîû ö…¤y‹ þ™yçëûy ö†öìŠé éôôôééôôôééôôôééôôôééôéôôôééôôôéôô  S~!Ÿëûyöì“þ/þ™)îÅ xy!šÊþ„þyöì“þ/
xyöì›!îû„þyöì“þVÐé

1.2 ö›öì£îû†vþü ¢¦þÄ“þy xy!îÜñyîû „þöìîû̃  ôôôééôôôééôôôééôôôééôéôôôééôôôéôô S‹¤y šÊ¤þyöì¢yëûy ‹y!îû‹/‰þyœÅ¢ ›Äy¢˜/”ëûyîûy› ¢y£y!˜VÐ

1.3 £îû̄ y ¢¦þÄ“þy ôôôééôôôééôôôééôôôééôéôôôééôôôéôô ë%öì†îû ¢¦þÄ“þy S²Ìy„þéôé£z!“þ£y¢ / ²Ìyëûéôé£z!“þ£y¢ / ú!“þ£y!¢„þVÐ

2. „þ éôé hßþöì½þîû ¢yöìí … éôé hßþ½þ !›!œöìëû öœöì…y õ 1 × 3 = 3

„þ éôé hßþ½þ … éôé hßþ½þ

î¨îû éôé ˜†îû !¢Ýþyöìvþœ

î,£ê ßþ¬y˜y†yîû öœyíyœ

vþz¤‰%þ ~œy„þy ›öì£˜öì‹y”yöìvþüy

3. öî›y˜y˜ Ÿ·!Ýþ …¤%öì‹ öœöì…y õ 1 × 3 = 3

3.1 ¢‚!£“þy– ›£y„þyîÄ– xyîû’Ä„þ– vþzþ™!˜¡ì”

3.2 îÊá‰þëÅ– †y£ÅÞíÄ– îy˜²ÌÞí– îÊyá’

3.3 !î”í– ¢¦þy– ¢!›!“þ– îû!b˜

4. ¢“þÄ îy !›íÄy !˜’Åëû „þöìîûy õ 1 × 3 = 3

4.1 ”!Çþ’ ¦þyîûöì“þîû ~„þ›ye ›£y‹˜þ™” !Šéœ xßþ¿„þÐ

4.2 ‰þw†%® ö›ïëÅ öŸ¡ì ‹#îöì̃  öîïå• £öìëû ëy˜Ð

4.3 !î˜ëû!þ™Ýþ„þ ö†ï“þ› î%öìå•îû ›)œ „þöìëû„þ!Ýþ vþzþ™öì”öìŸîû xyöìœy‰þ˜yÐ

5. ”%éôé!“þ˜!Ýþ îyöì„þÄ vþz_îû ”yç õ 2 × 4 = 8

5.1 ö›öì£îû†vþü ¢¦þÄ“þyëû ö„þy˜ ö„þy˜ „,þ!¡ì þ™’Ä vþzêþ™y!”“þ £“þÚ

5.2 vþzþ™›£yöì”öìŸîû þ™%öìîûyöì̃ y †%£yéôéî¢!“þîû ²Ì›y’ þ™yçëûy ö†öìŠé ~îû„þ› „þöìëû„þ!Ýþ Þíyöì̃ îû ˜y› öœöì…yÐ

5.3 öîöì”îû xyöìîû„þ ˜y› ×%!“þ ö„þ˜Ú

5.4 ‹˜þ™” „þ#Ú

6. ‰þyîûéôéþ™¤y‰þ!Ýþ îyöì„þÄ vþz_îû ”yç õ 3 × 5 = 15

6.1 ˆõÜy!úÌ Ñ˛#⁄

6.2 ãyì˛ Ï̂Ñ˛Ó˚ Ü Ï̂“Ó˚ õ)ú !Ó°ÏÎ˚Óhfl$̨  Ñ˛#⁄



6.3 ›˛#Ñ˛y ˆúˆÏÖy ı xÌ≈üyfl˛f

6.4 ˆõÔÎ≈ ¢¡Ày›˛Ó˚y Ü%Æâ˛Ó˚ ˆÑ˛ò !òˆÏÎ˚yÜ Ñ˛Ó˚ˆÏì˛ò⁄

6.5 ›˛#Ñ˛y ˆú Ï̂Öy ı £°Ï≈â˛!Ó˚ì˛

7. xy›˛ÈÙîü!›˛ Óy Ï̂Ñ˛ƒ v z̨_Ó˚ îyÁ ı 5 × 3 = 15

7.1 “%þ!› !„þ ›öì̃  „þöìîûy– xy†%öì̃ îû îÄî£yîû ›y %̃öì¡ìîû £z!“þ£yöì¢ ‹îû%!îû ~„þ!Ýþ þþ™!îûî“Åþ˜Ú

7.2 ÷î!”„þ ë%öì†îû îÄî¢y îy!’‹Ä ö„þ›˜ !ŠéœÚ

7.3 ˜îÄ•›Å xyöì̈ yœ˜ ö„þ˜ †öìvþü vþzöìàþ!ŠéœÚ
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1. !î„þÒ†%!œ öíöì„þ !àþ„þ vþz_îû!Ýþ !˜îÅy‰þ˜ „þöìîû öœöì…y õ 1 × 9 = 9

1.1 !àþ„þ ö‹yvþüy!Ýþ !˜îÅy‰þ˜ „þöìîûy éôôôé

„þV @ùÌ£ ééôôô !˜‹ßþº xyöìœy xyöìŠé …V @ùÌ£y’% éôôôé @ùÌöì£îû “%þœ˜yëû xyëû“þöì̃  îvþü

†V vþzþ™@ùÌ£ éôôô é˜Çþöìeîû xyöìœyëû  xyöìœy!„þ“þ ‡V vþzÍñy éôôôé öœ‹!î!ŸTþ vþzIµœ ö‹Äy!“þÜñ

1.2 !˜îûÇþöìîû…yîû ¢›yhsþîûyöìœ vþz_îû ö†yœyöì•Å !îhß+þ“þ „þyÒ!˜„þ öîû…y £öìœy éôôôé

„þV ›„þîû„Êþy!hsþ öîû…y …V „þ„ÅþÝþ„Êþy!hsþ öîû…y

…V ›)œ›•Ä öîû…y ‡V „%þöì›îû%î,_ öîû…y

1.3 ˜#öì‰þîû öë îûy‹Ä!Ýþîû çþ™îû !”öìëû „þ„ÅþÝþ„Êþy!hsþ öîû…y !îhß+þ“þ ö¢!Ýþ £öìœy éôôôé

„þV xîû%’y‰þœ ²Ìöì”Ÿ …V ›£yîûyTþÆé

†V !£›y‰þœ ²Ìöì”Ÿ ‡V þ™!Øþ›îA†

1.4 ¢)öìëÅîû x!“þöìî†%!˜ îû!ÙÂîû Çþ!“þ„þîû ²Ì¦þyî öíöì„þ ‹#î„)þœöì„þ îûÇþy„þyîû# çöì‹y˜ hßþîû xyöìŠéé éôôôé

„þV ÝþÆöìþ™y!ßþ³þëûyöìîûé …Vé ÞÝþÆÄyöìÝþy!ßþ³þëûyöìîû

†V xyëûöì˜y!ßþ³þëûyöìîû ‡V ~öì:y!ßþ³þëûyöìîû

1.5 xyrÝþy„Åþ!Ýþ„þyîû ~„þ!Ýþ ßþºy¦þy!î„þ vþz!q” £öìœy éôôôé

„þV þ™y£z̃ …V Ÿyœ

†V ›¢ ‡V ö¢†%̃

1.6 ¦þyîûöì“þîû ›îû% xMþöìœîû ›y!Ýþîû x˜Ä“þ› ²Ì•y˜ ÷î!ŸTþÄ £öìœy éôôôé

„þV ›y!Ýþîû ‹œ•yîû’ Çþ›“þy öî!Ÿ …V ›y!Ýþöì“þ öœy£yîû þ™!îû›y’ öî!Ÿ

†V ›y!Ýþîû ‹œ•yîû’ Çþ›“þy „þ› ‡V ›y!Ýþöì“þ ÷‹î þ™”yöìíÅîû þ™!îû›y’ öî!Ÿ

1.7 vþz_îû xyöì›!îû„þy ç £zvþzöìîûyöìþ™îû ›yöìGþ xî!Þí“þ ›£y¢y†îû!Ýþ £öìœy éôôôé

„þV ²ÌŸyhsþ  ›£y¢y†îû …V xyÝþœy!rÝþ„þ ›£y¢y†îû

†V ¦þyîû“þ ›£y¢y†îû ‡V ¢%öì›îû% ›£y¢y†îû

1.8 þ™!Øþ›îöìA†îû ‹œîyëû%îû ²Ì„,þ!“þ éôôôé

„þV vþz¡ÖéôéxyoÅ …V Ÿ#“þœéôéxyoÅ

†V Ÿ#“þœéôéŸ%Üñ ‡V vþz¡ÖéôéŸ%Üñ

1.9 ¦þyîûöì“þîû ~„þ!Ýþ þ™!Øþ›îy!£˜# ˜”# £öìœy éôôôé

„þV „þyöìîîû# …V ö†y”yîîû#

†V ˜›Å”y ‡V ›£y˜”#



2. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1 × 3 = 3

2.1 ¢›%öìoîû „þyŠéy„þy!Šé xMþöìœîû ‹œîyëû% éôôôééôôôééôôôééôôôééôôôééôôôé þ²Ì„,þ!“þîû £ëûÐ

2.2 !˜!”ÅTþ }“%þöì“þ öë †yöìŠéîû þ™y“þy Gþöìîû þ™öìvþü “þyöì„þ ôôôééôôôééôôôééôôôééôôôééôôôé vþz!q” îöìœÐ

2.3 ¢y•yîû’“þ Ÿ#“þ„þyöìœ Ÿ#“þœ xMþœ öíöì„þ öë þ™y!…îûy xy›yöì”îû ö”öìŸ vþzöìvþü xyöì¢ “þyîûy ôôôééôôôééôôôééôôôééôôôééôôôé þ™y!… ˜yöì›
þ™!îû!‰þ“þÐ

3. îy„þÄ!Ýþ ¢“þÄ £öìœ ò!àþ„þó ~î‚ x¢“þÄ £öìœ ò¦%þœó öœöì…y õ 1 × 3 = 3

2.1 ö†yœy„þyîû þ™,!íî# o%“þ †!“þöì“þ xyî“Åþ˜ „þîûyëû ~!Ýþ ›yGþ îîûyîîû ßþ³þ#“þÐ

2.2 00 ç 1800 oy!‡›yöìîû…y ²Ì„,þ“þþ™öìÇþ ~„þ!Ýþ£z öîû…yÐ

2.3 ¢)öìëÅîû ÷”!˜„þ xyþ™y“þ †!“þîû ›)œ „þyîû’ þ™,!íî#îû xyî“Åþ˜Ð

4. hßþ½þ ö›œyç õ 1 × 3 = 3

„þ  hßþ½þ …  hßþ½þ

4.1  xyoÅ“þy i) þ™Äy˜!‹ëûy

4.2  ¦þyîûöì“þîû ¢öìîÅyF‰þ Ÿ,A† ii) £y£zöì@ùÌy!›Ýþyîû

4.3  x…[þ Þíœ¦þy† iii) †vþvþz£z̃  x!ÞÝþ˜

5. ¢‚!Çþ® vþz_îû ”yç õ 2 × 4 = 8

5.1 “þyîûyîû îûöì̂ îû ¢öìA† vþz¡Ö“þyîû ¢Á™„Åþ öœöì…yÐ

5.2 þ!”†hsþöìîû…y „þyöì„þ îöìœÚ

5.3 îy!îû›[þœ „þ#¦þyöìî ¢,!Tþ £öìëûöìŠéÚ

5.4 !î!„þîû’ þ™å•!“þöì“þ „þ#¦þyöìî þ™,!íî#îû îyëû%›[þœ vþz_® £ëûÚ

6. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 3 × 3 = 9

6.1 þ™,!íî#îû „þyÒ!˜„þ xÇþ „þÇþ“þöìœîû ¢öìA† „þ“þ !vþ!@ùÌ ö„þyöì’ ö£öìœ xîÞíy˜ „þîûöìŠé “þyîû ~„þ!Ýþ !‰þ!£«“þ !‰þe x¤yöì„þyÐ

6.2 þ™!œ›y!Ýþîû !“þ˜!Ýþ ÷î!ŸTþÄ vþzöìÍÔ… „þöìîûyÐ

6.3 !îÙ» vþz¡Öyëûöì̃ îû „þyîûöì’ þ™,!íî#îû Ÿ#“þœ“þ› ›£yöì”Ÿ „þ#¦þyöìî Çþ!“þ@ùÌhßþ  £öì‰ŠéÚ

7. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 5 × 3 = 15

7.1 !£›yœöìëûîû vþz_îû öíöì„þ ”!Çþöì’ !îhß+þ“þ !“þ˜!Ýþ ¢›yhsþîûyœ þ™îÅ“þöì×!’îû ¢‚!Çþ® î’Å̃ y ”yçÐ

7.2 îyëû%‰þyþ™ ç îyëû%²Ìîy£ ö„þyöì̃ y xMþöìœîû xyî£yçëûyöì„þ „þ#¦þyöìî !˜ëûsþf’ „þöìîû “þy îÄy…Äy „þöìîûyÐ

7.3 xîû’Ä ¢‚îûÇþ’ „þîûy ö„þ˜ ²Ìöìëûy‹˜ îöìœ “%þ!› ›öì̃  „þöìîûyÚ



ßþºyÞíÄ ç Ÿyîû#îû!ŸÇþy
¡ìÛþ ö×!’

þ™)’Å›y˜ éôé 50

SÑ˛V Ó£%Ó˚ õ Ï̂ïƒ ¢!‡˛Ñ˛ v z̨_Ó˚!›˛ Ö§%̂ Ïã S√√√√√V !â˛£´ îyÁ SˆÎ Ï̂Ñ˛yò 14!›˛ ≤Ã Ï̂Ÿ¿Ó̊ v z̨_Ó̊ îyÁV ı 1 × 14 = 14

S1þV ¶˛yÓ˚ì˛ÓˆÏ°Ï≈Ó˚ ãyì˛#Î˚ ˛ôì˛yÑ˛yÓ˚ ˆÑ˛yò Ó˚Ç!›˛ ò#ˆÏâ˛Ó˚ !îˆÏÑ˛ ÌyˆÏÑ˛⁄

SiV ¢yîy                  SiiV ¢Ó%ã SiiiV ˆÜÓ˚%Î˚y

S2V ãyì˛#Î˚ ˛ôì˛yÑ˛yÓ˚ ¢yîy Ó˚Ç Ñ˛#ˆÏ¢Ó˚ ≤Ãì˛#Ñ˛ÈÈ⁄È

SiV ì˛ƒyÜ                 SiiV xyò® SiiiV üy!hs˛ Á ˛ô!Óeì˛y

S3V ≤ÃyÌ!õÑ˛ !â˛!Ñ˛Í¢y Ñ˛Ó˚y £Î˚

SiV  v˛y=˛yˆÏÓ˚Ó˚ Ñ˛yˆÏäÈ !òˆÏÎ˚ ÎyÁÎ˚yÓ˚ xyˆÏÜ SiiV v˛y=˛yˆÏÓ˚Ó˚ ˆîÖyÓ˚ ˛ôÓ˚

SiiiV ˆÓ˚yÜ ˆÌˆÏÑ˛ ˆ¢ˆÏÓ˚ Á‡˛yÓ˚ ˛ôÓ˚

S4V Ñ˛Öò Ú!fl˛ôœr›˛˛Û ÓƒÓ£yÓ˚ Ñ˛Ó˚y £Î˚ ⁄

SiV Ó˚=˛˛ôyì˛ Órï Ñ˛Ó˚ˆÏì˛ SiiV ãμÓ˚ Ñ˛õyÓyÓ˚ ãòƒ

SiiiV x!fiÌ¶˛ Ï̂AÜÓ˚ ˆ«˛ Ï̂e

S5þV ¢%ÈÙÈx¶˛ƒy¢ Ü Ï̂v ¸̨ ˆì˛yúyÓ˚ ãòƒ ≤Ãïyòì˛ Ñ˛# Ü%íyÓ!ú ÌyÑ˛y îÓ˚Ñ˛yÓ˚⁄

SiV fl %̨ÒˆÏúÓ˚ üy¢ò SiiV ˆÓ˚yÜˆÏ¶˛yÜ

SiiiV î,ë ¸̨ õyò!¢Ñ˛ ≤Ãì˛ƒÎ˚ SivV x!¶˛¶˛yÓ Ï̂Ñ˛Ó˚ üy¢ò

S6V ~Ñ˛ãò !ü«˛yÌ≈#ˆÏÑ˛ ≤Ã!ì˛!îò Ñ˛ì˛›˛y ˛ô!Ó˚õyí ãú ˛ôyò Ñ˛Ó˚ˆÏì˛ £ˆÏÓ⁄

SiV 1 !ú›˛yÓ˚ SiiV 2.5 ÈÙÙÙÈ 3 !ú›˛yÓ˚

SiiiV 3 ÈÙÙÙÈ 5 !ú›˛yÓ˚ SivV 4 ÈÙÙÙÈ 5 !ú›˛yÓ˚

S7V fl ∫̨yfiÌƒ Ñ˛#⁄

SiV ˆÑ˛Óúõye üyÓ˚#!Ó˚Ñ˛ ¢%fiÌì˛y SiiV ˆÑ˛Óúõye õyò!¢Ñ˛ ¢%fiÌì˛y

SiiiV ˆÑ˛Óúõye ¢yõy!ãÑ˛ ¢%fiÌì˛y

SivV ˛ô!Ó˚˛ô)í≈ ã#ÓˆÏòÓ˚ v z̨̨ ôˆÏÎyÜ# üyÓ˚#!Ó˚Ñ˛ñ õyò!¢Ñ˛ Á ¢yõy!ãÑ˛ ¢%fiÌì˛yÓ˚ ¢õß∫Î˚

S8V õyfl˛Ò ÓƒÓ£yˆÏÓ˚Ó˚ ¢%ö˛ú Ñ˛#⁄

SiV Ÿªy¢ÈÙÈ≤ÃŸªyˆÏ¢Ó˚ õyïƒˆÏõ ˆÓ˚yÜ ¢ÇÑ ̨ y!õì˛ £ˆÏì˛ ˛ôyˆÏÓ˚ òy

SiiV ˆÓ˚yÜ#Ó˚ ˆî£ ˆÌˆÏÑ˛ ˆÓ˚yÜ äÈv ¸̨yÎ˚ òy SiiiV Ÿªy¢≤ÃŸªy¢ Á v»̨ ˛ô Ï̂ú Ï̂›˛Ó˚ õyïƒ Ï̂õ ˆÓ˚yÜ äÈv ¸̨yÎ˚ òy

SivV Ñ˛ˆÏÓ˚yòyÎ˚ xyÑ ˛yhs˛ ˆÓ˚yÜ# ˛ô%òÓ˚yÎ˚ ˆÓ˚yÜ ¢ÇÑ ˛õí ˆÌˆÏÑ˛ Ó§yâ˛ˆÏì˛ ˛ôyˆÏÓ˚

S9V Ñ˛ˆÏÓ˚yòy È
ÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈ

 ˆÓ˚yÜ–

SiV ¶˛y£zÓ˚y¢ myÓ˚y ¢ÇÑ ˛yõÑ˛ ˆÓ˚yÜ SiiV x¢ÇÑ ̨ yõÑ˛ ˆÓ˚yÜ

SiiiV ÓÇüÜì˛ ˆÓ˚yÜ SivV õüyÓy!£ì˛ ˆÓ˚yÜ

S10˛V î#á≈«˛í üÓ̊#Ó̊ â˛â≈̨ yÓ̊ ¢õÎ̊ üyÓ̊#!Ó̊Ñ˛ î)Ó̊c ÓãyÎ̊ Ó̊yÖy ¢ Ï̂_¥Á !Ñ˛ õyfl˛Ò ÓƒÓ£yÓ̊ Ñ˛Ó̊y v z̨!â˛ì˛⁄

SiV £§ƒy                          SiiV  òy SiiiV  x!ò!ÿ˛ì˛

S11V ˆÑ˛yò !¶˛›˛y!õ Ï̂òÓ̊ x¶˛y Ï̂Ó !üü%̂ ÏîÓ̊ Ó̊yì˛Ñ˛yòy ˆÓ̊yÜ £ Ï̂ì˛ ˛ôy Ï̂Ó̊⁄

SiV !¶˛›˛y!õò A              SiiV  !¶˛›˛y!õò C SiiiV  ̂ Ñ˛y Ï̂òy!›˛£z òÎ̊



S12V ˛ô Ï̂Ó̊y˛ôÑ˛yÓ̊ Á ¢õyã Ï̂¢Óyõ)úÑ˛ Ñ˛yã Ñ˛Ó̊y–

SiV ¢%ÈÙÈx¶˛ƒy¢                SiiV  Ñ%̨ ÈÙÈx¶˛ƒy¢ SiiiV  ̂ Ñ˛y Ï̂òy!›˛£z òÎ̊

S13V ÖyÓyÓ˚ ÌyúyÓy¢ò õyãyÓ̊ ãòƒ ˆÑ˛yò ïÓ̊ Ï̂òÓ̊ ãú ÓƒÓ£yÓ̊ Ñ˛Ó̊y v z̨!â˛ì˛⁄

SiV î)!°Ïì˛ ãú                   SiiV  !Óü%Âï ãú SiiiV  î)!°Ïì˛ Óy !Óü%Âï ãú

S14V õyòÓ Ï̂î Ï̂£ ã Ï̂úÓ̊ ≤Ã Ï̂Î̊yãò £Î̊ ˆÑ˛ò⁄

SiV Ó̊=˛ ¢M˛yú Ï̂ò ¢y£yÎƒ Ñ˛Ó̊ Ï̂ì˛ SiiV  ˛ô!Ó̊˛ôyÑ˛ Á ˆî£ Ü‡˛ Ï̂ò ¢y£yÎƒ Ñ˛Ó̊ Ï̂ì˛

SiiiV  ˆî£ Ï̂Ñ˛y Ï̂ü ã Ï̂úÓ̊ ¢õì˛y ÓãyÎ̊ Ó̊yÖ Ï̂ì˛ SivV  ¢ÓÑ˛Î̊!›˛ ̂ «˛ Ï̂e

SÖV v z̨̨ ôÎ%=˛ ü∑ Ó!¢ Ï̂Î˚ ü)òƒfiÌyò ˛ô)Ó˚í Ñ˛ Ï̂Ó˚y É 1 × 11 = 11

S1V ¶˛yÓ̊ Ï̂ì˛Ó̊ ãyì˛#Î̊ ˛ôì˛yÑ˛yÓ̊ ¢yîy Ó̊ Ï̂àÓ̊ xÇÏü!›˛Ó˚ _____________È ò#ú Ó̊ Ï̂àÓ̊ È_____________Ñ§̨ y›˛y!Ó!üT˛

â˛Ñ ̨  Ó¢y Ï̂òy Ìy Ï̂Ñ˛–

S2V ãyì˛#Î˚ ˆüyÑ˛≤ÃÑ˛yˆÏü ãyì˛#Î˚ ˛ôì˛yÑ˛y xï≈ò!õì˛ ÌyÑ˛yÓ˚ !îˆÏòÁ ãyì˛#Î˚ ˛ôì˛yÑ˛y ≤ÃÌˆÏõ È____________ì%̨ Ï̂ú

ì˛yÓ˚˛ôÓ˚ îˆÏ[˛Ó˚ È___________ôÎ≈hs˛ òyõyˆÏì˛ £ˆÏÓ–

S3V xy£ì˛ Óƒ!=˛Ó˚ Ÿªy¢ Órï £ÁÎ˚yÓ˚ v˛z˛ôÑ ˛õ £ˆÏú o%ì˛ Ñ,˛!eõ __________________ â˛yúy Ï̂òyÓ˚ ÓƒÓfiÌy @˘Ã£í

Ñ˛Ó˚ˆÏì˛ £ˆÏÓ–

S4V !ÓîƒyúˆÏÎ˚Ó˚ ≤ÃyÌ!õÑ˛ !â˛!Ñ˛Í¢yÓ˚ ÓyˆÏ: !Ñ˛ä%È ≤ÃˆÏÎ˚yãò#Î˚ ________________ ÌyÑ˛y xyÓüƒÑ˛–

S5V fl˛∫yfiÌƒ xõ)úƒ –

S6V õï%ˆÏõ£  Óƒy!ï–

S7V !Óü%Âï ÓyÎ%̊ Óí≈ Á  £#ò £ Ï̂Ó–

S8V  ~Ñ˛≤ÃÑ˛yÓ˚ ¢ÇÑ ̨ yõÑ˛ ˆÓ˚yÜ–

S9þV ˆÓ˚yÜ  £ˆÏú xyõyˆÏîÓ˚ üÓ˚#Ó˚ î%Ó≈ú £ˆÏÎ˚ ÎyÎ˚–

S10V x¢ÇÑ ̨ yõÑ˛ ˆÓ˚yÜ !ãòÜì˛¶˛y Ï̂Ó  ˆÌˆÏÑ˛ xy¢ˆÏì˛ ˛ôyˆÏÓ˚–

S11V õyò%°Ï ÎÖò ˆÑ˛yˆÏòy !Ñ˛ä%È ˆüˆÏÖ ì˛y ÓyÓ˚ÓyÓ˚ ˛ô%òÓ˚yÓ,!_ Ñ˛ˆÏÓ˚ Óy Ñ˛Ó˚yÓ˚ ˆâ˛T˛y Ñ˛ˆÏÓ˚ñ ~ˆÏÑ˛£z ÓˆÏú È
ÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈ

 –

SÜV ¢yÓ˚!íÓ˚ õ Ï̂ïƒ ¢õì˛y!Óïyò Ñ˛ Ï̂Ó˚y É 1 × 6 = 6

Ó§y!î Ï̂Ñ˛Ó˚ ¢ Ï̂AÜ v˛yò!î Ï̂Ñ˛Ó˚ xÇü ˆõúyÁ

SÑ˛V ¢Ó%ã Ó˚Ç S          V SiV «˛ì˛fiÌyò xyà%ú !îˆÏÎ˚ ˆâ˛ˆÏ˛ô ïÓ˚ˆÏì˛ £ˆÏÓ–

SÖV x˜Ïâ˛ì˛òƒ Óƒ!=˛ S          V SiiV o%ì˛ K˛yò ˆö˛Ó˚yˆÏì˛ £ˆÏÓ–

SÜV xˆÏüyÑ˛â˛Ñ ˛ S          V SiiiV xÓyï x@˘ÃÜ!ì˛Ó˚ ≤Ãì˛#Ñ˛

SáV !eÓí≈Ó˚!Oì˛ S          V SivV ì˛Ó˚ú ã#Óyí%òyüÑ˛ ÓƒÓ£yÓ˚ Ñ˛Ó˚̂ Ïì˛ £ Ï̂Ó–

SàV fl˛∫“ Ó˚=˛˛ôyì˛ £ˆÏFäÈ S          V SvV o%ì˛ fiÌyòyhs˛Ó˚Ñ˛Ó˚̂ ÏíÓ˚ ÓƒÓfiÌy Ñ˛Ó˚̂ Ïì˛ £ Ï̂Ó–

Sâ˛V ≤ÃyÌ!õÑ˛ !â˛!Ñ˛Í¢yÓ˚ S          V SviV ¢%ãúyÈÙÈ¢%ö˛úy ¢õ,Âï ¶)̨ !õ Á ì˛yÓ%̊̂ ÏíƒÓ˚ ≤Ãì˛#Ñ

˛ôˆÏÓ˚ ˆÓ˚yÜ#ˆÏÑ˛ SviiV ¶˛yÓ˚ì˛Ó Ï̂°Ï≈Ó˚ ãyì˛#Î˚ ˛ôì˛yÑ˛y–



Sâ˛V !ò Ï̂ãÓ˚ õ Ï̂ì˛y Ñ˛ Ï̂Ó˚ ˆú Ï̂Öy ı 2 ` 3 ` 3 = 8

S1˛V ¢%%ÈÙÈx¶˛ƒy¢ Ü‡˛ˆÏòÓ˚ !òÎ˚õÜ%!ú ˆúˆÏÖy–

S2V x¢ÇÑ ˛yõÑ˛ ˆÓ˚yˆÏÜÓ˚ Ñ˛yÓ˚íÜ%!ú ì˛y!úÑ˛y¶%˛=˛ Ñ˛ˆÏÓ˚y–

S3V òˆÏ¶˛ú Ñ˛ˆÏÓ˚yòy ¶˛y£zÓ˚y¢ ˆÓ˚yÜ ≤Ã!ì˛ˆÏÓ˚yˆÏï xyõyˆÏîÓ˚ Ñ˛# Ñ˛# ˛ôîˆÏ«˛˛ô @˘Ã£í Ñ˛Ó˚ˆÏì˛ £ˆÏÓ⁄

SàV ò# Ï̂â˛Ó˚ ˆÎyÜy¢ Ï̂òÓ˚ ¶˛!AÜÜ%!ú üòy=˛ Ñ˛ Ï̂Ó˚ äÈ!ÓÓ˚ ò# Ï̂â˛ ö§̨ yÑ˛y á Ï̂Ó˚ ˆÎyÜy¢ò!›˛Ó˚ òyõ ˆú Ï̂Öy– 1 × 2 = 2

SáV ò# Ï̂â˛Ó˚ ö§˛yÑ˛y äÈÑ˛!›˛ ˛ô)Ó˚í Ñ˛ˆÏÓ˚y ı 3 × 3 = 9

£z!w Ï̂Î˚Ó˚ Îb £z!w Ï̂Î˚Ó˚ Î Ï̂bÓ˚ !òÎ˚õÜ%!ú Óí≈òy Ñ˛ Ï̂Ó˚y

„þ# „þîûöìî „þ# „þîûöìî ˜y

S„þV ö‰þy…

S…V c„þ

S†V ”¤y“þ
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